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W PROBLEMS i
=15 — j20 Q.

o ine is terminated in Z, ith chart. P
i 2:)5 %ﬁtkt’:ilens:r::aﬁized o e :hilz;rreswnding normalized admi.
(b) Using the Smith chart, determi
tance y,.
(e) Using the re: o
- ine is termina
i 2:)5%{3:1:;?(:15;:“81”5‘1 admittance onche cor
(b) Using the Smith chart, determin€ 2
ance z;. : al impedance Z,.
(c) Usingzthe result of (b), determine -thet:Zt:’SWR‘;nd the reflection coeffi.
5-3. For the system of Problem 5—1, determine
cient. 2

5-4. For the system of Problem 5—2, determine the
cient.

5-5. A 50-Q lossless line is terminated in a real 1
Using a Smith chart, determine the input impe
line lengths:

(a) 0.15A
(b) 0.25A
(c) 0.351
(d) 0.45\n
5-6. A 50-() lossless line is terminated in a real load admittance Y, = 0.01 S,
Using a Smith chart, determine the input admittance for the following line
lengths:
(a) 0.125x
(b) 0.25)
(c) 0.375\
(d) 0.50A
5-7. A 50-Q lossless line is terminated in a load impedance Z, =175 + j100 Q.
(@) Using a Smith chart, determine the input impedance for a line of length
0.2A. : S
(b) Determine the VSWR and the reflection coefficien
5-8. A 300-() lossless line is terminated in a load im

(a) Using a Smith chart, determine the input imj
0.3A.

(b) Determine the VSWR and the reflection

i 1 admittance Y,.
termine the actua
bl i Y, = 0.01 + j0.02 S.
a Smith chart: i !
responding normalized impeq.

VSWR and the reflection coeff;.

oad impedan'ce Zy =R, = 1500,
dance for each of the following
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53 PSS L= 0.251+ 0.5 = 0.2k
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